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The Discriminant of the Quadratic Formula
Find the zeroes for each of the following using
the quadratic formula:

(a) y = x2 ­ 6x + 7

(b) y = x2 ­ 6x + 9

(c) y = x2 ­ 6x + 11

x = 

May 6­7:46 PM

(a) y = x2 ­ 6x + 7
x = 
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(b) y = x2 ­ 6x + 9
x = 

May 6­7:46 PM

(c) y = x2 ­ 6x + 11
x = 
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b2 ­ 4ac is called the discriminant.

It tells you how many zeroes the quadratic has.

b2 ­ 4ac > 0

b2 ­ 4ac = 0

b2 ­ 4ac < 0

two real roots

one real root
(double root)

no real roots

Nov 14 ­ 11:15 PM

Assigned Work:  
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